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POLITICAL SCIENCE
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Time : 2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

_ OPTION—A
Paper : POL-SE-4014
( Panchayati Raj in Practice )

1. Choose the correct answer (any four) T 1x4=4
% Tec! Ak SRvear (R e wiike)

fa) In which year the Constitutional
(73rd Amendment) Act came into force?
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( Continued)

(e) From which year was the social audit
process first introduced in India?

In which year the Panchayat Extention
Scheduled Area Act was adopted?
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(d What is the full form of ISI?
1S oy Ferct 2
(i) Indian Standard Instruction
(i) Indian Standard Institution
(ii) Indian Standard Institute
() Indian Standard Instruments

s the Consumer

(e In which year W&
Protection Act enacted for the first time
in India?
QW TS oredfs g T ToerS!
el SR AT FREA?
@ 1983 / >3v°
(i) 1986 / >8v®
(iii) .1991 ] S8
(iv) 2005 / Xo°¢
The Indian Succession Act, 1925 does
not apply in both testamentary of
intestate succession of Muslims-.
et TR s TefEF i
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(i) Yes | &
(i) No ] =
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3. Write short answers (a¥ two) 5x2=10
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(@) Briefly discuss the features of the
Protection of Women from theé pomestic
Violence Act, 5.
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4. Answer any thréé

(15 )
of the following jons :
10X3==30

WW@

(a) What do ¥

sge 2T
(v) What is untouchability? piscuss the
yarious 1aws agains untouchabﬂlty in
India. +6=10
eepl 7 SO0 o ST @ R
Wqﬂﬂwl
(c What is the me of empowerment?
Discussth elements of empoO erment.
4+6=10
SR o B? FRAFT TR
AT A\
(d) Discuss e tradmonal rights of forest
dwellers:
SRR SR g T® SREFTR
s ¥4
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(e) Discuss the historical background of '
rural employment programme. 10

P JeER AR Yol e
G |

() What do you mean by Criminal Justice
Administration? Discuss the objectives
of Criminal Justice Administration. 3+7=10

PR RoW PR P TR R ™17
CREARY ROR PP STRIPTR SIgeTTse 47 |

What are the different types of bail?
Discuss the importance of bajl. 5+5=10
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